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D 22 @ 27 ® —2V2+ V7
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3. 4x?-5xy—6y? 2 (ax+by)(cx+dy) B2 AFE5N5HH-S W, ac - bd
o] #h2?

@10 @ 15 ® 20 @ 26 ® 28

B )

4x% = 5xy — 6y* = (4x + 3y)(x - 2y)
(ax + by)(cx + dy) = (4x + 3y)(x — 2y)
ac =4, bd = -6

" ac—bd=4-(~6) =10




4. A (6% - 3x +2)(x* + 5x + 6) - 60 & A sA?

O (x+4)(x=-3)(x*+x+5) @ (x=4)(x+3)(x*—x+4)
® (x+6)(x—2)(x*+x+5) @(x+4)(x—3)(x2+x+4)

® (x-4)(x+3)(x*+x+4)

B

(x% = 3x+2)(x% + 5x + 6) — 60

= (x—1)(x - 2)(x + 2)(x + 3) — 60
=(x-1)(x+2)x(x=2)(x+3)-60
=(x?+x-2)(x2+x-6) - 60
P+x=A2 EO°W
(A-6)(A-2)-60=A2-8A-48
=(A-12)(A+4)

= (x> +x—12)(x®> + x + 4)
=(x+4)(x-3)(x2+x+4)




5. the AAS % 310 - 12 Lol Wolx A sH= 47k obdl 2L

@ 2 @ 4 ® 5 @9 ® 10

B
(38-1)(3%+1)

= (3* —_1)(34 +1)(3%+1)
1

=B-1DB+1B2+1)B*+1)(3%+1)
=2X%X4x10 X% 82 x 6562




a=1+ﬁ,b=1—«5w1,9—g9m%?
a

D -4+2 @ -2V2 ® 2v2
@42 ® 62

B

ab=(1+V2)(1-V2)=1-2=-1

a+b=(1+V2)+(1-v2) =2

a-b=(1+V2)-(1-v2)=2v2

b -a> —(a+b)(a-b)
ab
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7. a-b=12949 4, a%-8a+b%+8b—-2ab+ 16 9 ZtS H5HH?

@® 36 @64 ® 49 @ 16 ® 25

B

a* —8a + b* + 8b - 2ab + 16
=a’® - 2ab + b* + —8a + 8b + 16
= (a-b)?>-8(a-b)+ 16
=(a—b-4)?

=64




